Cortesia de www.motomarcadores.com

] INSTIRRUCTION

THANK YOU FOR PURCHASING MINI LCD METER. LED NIGHT-BACK-LIGHTED, MULTI-FUNCTION IN ONE. EASY-WIRING. CLEAR-CONTROLLUNG AND
EASY-USING.

A NOTICE

1.THE LCD METER POWER S BY BATTERY.

2.FOR INSTALLATION, PLEASE FOLLOW THE STEPS DESCRIBED IN MANUAL. ANY DAMAGE CAUSED BY WRONG INSTALLATION SHALL BE IMPUTED TO THE USERS.
3.DONT BREAK OFR MODIFY THE WIRE TERMINAL, TO AVOID THE SHORT CIRCUT, PLEASE DONT PULL THE WIRE WHEN INSTALLING,

4.D0 NOT DISASSEMBLE OR CHANGE ANY PARTS EXCLUDING THE MANUAL DESCRIPTION.

5.THE INTERIOR EXAMINATION OR MAINTENANCE SHOULD BE EXECUTED BY OUR PROFESSIONALS.

MARK MEANING;

YOU COULD GET THE INSTALLATION DETAILS FROM THE INFORMATION BEHIND THE MARK.

/\ SOME PROCESSES MUST BE FOLLOWED TQ AVOID THE AFFECTION CAUSED BY WRONG INSTALLATION.

[] SOME FROCESSES MUST BE FOLLOWED TO AVOID DAMAGES TO YOURSELF OR THE PUBLIC.
- .': SOME PROCESSES MUSI BE FOLIOWED TQ AVOID THE DAMAGE TO THE VEHICLE.

MO

time_temp_rpm meter

SN § KN | W) S

[N[e)ia PLEASE CONIACT US JF THE ITEMS YOU OPEN ARE NOT THE SAME. WITH THE /. TBLTED ONES.

(
2 INSTRUCTION OF M IRING INS TA 'g;lf’ _

L AHERMTWE : o SENSOR WIRE[ACCESSORY 3}|
0% wamr
Y TEMP SENSOR
AN ADAPTER M14
= M16M18M2Z2. 26+

TO THE POSITION YOU WANT TO MEASLIRt

PT1/8 (ACCESSORY 4) PLEASE INSTALL THE TEMF SE *}(KI
O A[TE

=1

RPM SENSOR WIRE [ACCESSORY 2]

USE THE TAPE[ACCESSORY 5] TO INSTALL THE METER

]
L) (ALTERNATIVE 2

é:? CYLINDER
4§ A HEAD
- TEMP SENSOR
=S MA1O.M14mim.

[ACCESSORY 1) TO THE PLACE YOU WANT TO PUT T ON,

Ve

) o

AND ADAPTOR MIOXT.0f M12X1.5 | M14X1.25 | M14X1.5 | M16X1. 5}M‘18X1‘ 5 FOR CHOOSING. |

N O TE WE ALSO PROVIDE DIFFENT SIZE TEMP SENSCIY

3 SETTING INS TRUCTION.

@EFFECTIVE REM RANGE. O~ 22000RPM. DISELAY UNIT: 100REM.

@ OVER-RPM ALERT SETTING 0~ 22000RPM, ADJUSTING UNIT: 100REM

@STROKE, PISTON SETTING:21-1.2.3.4:5,6 FISTONS, 4T-1.2.3.4.5.6.8.10[A):12[ ] PISTONS
@ TOF RPM RECORD RANGE :0—22000RPM, RESETABLE. .

@ EFFECTIVE TEMPERATURE RANGE:-50~+110°C

a0mim

- @ CENTIGRADE[ "C), FAHRENHEIT] “F) ALTERNATIVE EUNCTION
@OVER-TEMPERATURE ALERT SETTING: 0~110"C. ABJUSTING UNIT: 1°C.

Wa0xL3&x H13 1mim

@EFFECTIVE ENGINE RUN TIME RANGE: 00:00- 99(H). 59(M), AND THEN RESET AUTOMATICALLY. (RESETABLE]

@BATTERY TYPE:CR2032 _
@CPERATING TEMPERATURE:-10~+60°C
@BODY SIZE:W80 x L36 X H13.1mim

[Y[@){a DESIGN AND SPECIFICATIONS ARE SUBJECT TO CHANGE WITHOUT NOTICE] |
3 - 1 OV EIIRATIFPAM ALERT FUNCTION INSTIRUECTION.

IN MAIN SCREEN, PRESS BUTTON
Mode ONE TIME, TO ENTER
THE OVER-RPM ALERT SETTING
SCREEN.

/N NOW THE 1S FLASHING. |

EX: WE WANT TO SET IT AS 9000
RPM.PRESS BUTTON Set TWO

TIMES, TO SELECT THE UNIT YOU
WANT TO SET.

A\ NOW THE THOUSANDS UNIT IS FLASHING |

PRESS BUTTON IMiode © TIVIE,

TO SETTAS &

PRESS BUTTON Set: TWO TIMES,
TO BACK THE SETTING SCREEN.

/N NOW THE 918 FLASHING.

]

/A NOW THE @@ [S FLASHING. |

Cortesia de www.motomarcadores.com



Cortesia de www.motomarcadores.com

L4
@ WHEN THE RPM IS OVER YOUR
SETTING, THE SCREEN WILL FLASH TO
WARN YOU!
@OVER-RPM ALERT SETTING:0~ 22000
RPN, ADJUSTING UNIT:100RPM

PRESS BUTTON Mode 7 TIMES,
TO BACK THE MAIN SCREEN.

IN MAIN SCREEN, PRESS BUTTON ~ EX: WE WANT TO SET THE STROKE ~ PRESS BUTTON Mlodie TO ENTER ~ PRESS BUTTON Set: 4 TIVEES, TO
Mode TWICE TO ENTER THE AS 4 STROKE 4 PISTON. PRESS THE PISTON SETTING SCREEN, CHOOSE THE PISTONS SETTING.
STROKE SETTING SCREEN. BUTTON Set TO CHOOSE THE

Dy B6E STROKE WE WANT. ‘ﬁ?'a
ST

m @MAKE SURE THE CORRECT STROKES AND PISTONS BEFORE SETTING.

@MAKE SURE THE INPUT 1S CORRECT, OR THE RPM QUTPUT WILL BE INCORRECT.

@WE DEFINE THE ENGINE WITH THE IGNITION SYSTEM IGNITES EVERY 360 DEGREE AS 2-STROKE AND THE ENGINE WITH THE IGNITION
SYSTEM IGNITES EVERY 720 DEGREE AS 4-STROKE

@SOME 4-STROKE BIKES WITH ONE SINGLE PISTON ARE IGNITING 360 DEGREE ONCE. SC THE SETTING SHOULD BE THE SAME AS THE

BIKE WITH 2-STROKE AND ONE PISTON ENGINE.

i

PRESS BUTTON Mlodle 5 TIMES,
TQ BACK THE MAIN SCREEN.

K;

S ﬁ -
2t
& &y
@70P RPM RECORD RANGE:0~
22000RPM,
- o A WARNING!
IN MAIN SCREEN, PRESS BUTTON ~ PRESS BUTTON Set TO RESET PRESS BUTIQMVIode 4 TIVES, TO AVOID ANY ACCIDENTS
Modie 4 TIVES TO ENTER THE THE RECORD. TO BACK J8E MAIN SCREEN. REGORD WHEN RDNG, T
MAX RPM RECALL SCREEN, F Y00 JUST WANT 70 CRECK &) : Wi 5
A\ NOW THE G AND THE - ba Lot e S L2 D
RECORD IS FLASHING. — LS e %
/\ NOW THE &8 AND THE ‘ KX
RECORD IS FLASHING. O L )

Sy

@EFFECTIVE TEMPERATURE RANGE:
-50~+110C

@ CENTIGRADE( 'C), FAHRENHEIT
et 10 SWITCH PRESS BUTTON Mlode 3 TIVIES, [ F] ALTERNATIVE FUNCTION,

YADE[ 'C) TO TO BACK THE MAIN SCREEN.

IN MAIN SCREEN, PRESS BUTTON PRESS |
Mocle 5 TIMES TO ENTER THE FROM Crf
THERMOMETER SETTING SCREEN, FAHRENHET]

3-5 OVER-TEAMPEIR AT L/ ALERT SETTING INSTRRUCTION.

IN MAIN SCREEN, PRESS BUTTON EX: WE WANT TO MAKE THE SETTING  PRESS BUTTON IMlode 17O MAKE PRESS BUTTON Seat TWICE, TO

Mode ¢ TIMES TO ENTER THE OVER- AS 100 C. PRESS BUTTON Set TO  THE SETTING. RETURN TO THE OVER-TEMPERATURE
TEMPERATURE ALERT SETTING SCREEN., CHOOSE THE UNIT YOU WANT TO SET. ALERT SETTING SCREEN.
/N NOW THE &2 IS FLASHING. | A\ NOW THE TENTHS UNIT IS FLASHING] A\ NOW THE 01S FLASHING. | /N NOW THE 1§ FLASHING. |

o=
Sy
@WHEN THE TEMPH?ATUF?? IS OVER
YOUPR SETTING, THE SCREEN WILL
FLASH TO WARN YOU!

Q@OVER-TEMPERATURE ALERT SETTING:
0~119 "C, ADJUSTING UNIT: 1 C.

PRESS BUTTON Miode TWICE.
TO BACK THE MAIN SCREEN.

@EFFECTIVE ENGINE RUN TIME
RANGE: D0:00~99(H):59(M), AND
THEN RESET AUTOMATICALLY.

(RESETABLE]
IN MAIN SCREEN, PRESS BUTTON PRESS BUTTON Set TO RESET PRESS BUTTON Mlode ONE TIVE. | BT
Made 7 TIMES TO ENTER THE THE RECORD O BACK THE MAIN SCREEN. TO AVOID ANY ACCIDENTS
ENGINE RUN TIME SETTING NOTE I3 \a'ééusr WANT TO CHECK HAPPENED, DO NOT CHECK THE
THE RECORD, FOLLOW THE INEXT .
SCREEN. STER TO BACK THE MAIN SCREEN, LRECORD WHEN RIDING. J

Cortesia de www.motomarcadores.com whio3bat102





